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6. 3D GIS(Geographic Information System)S A" 3FA| L.

7. HOLAP(Hybrid OnLine Analytical Processing)?] EA S A W3A 2.

8. IPv6 over Low Power WPANS A ™ 3}A] 2

9. COSO(Committee of Sponsoring Organization) Z @ o thal] A slA] L.

10. demig 2 7ink AwMds Aqej2ef adl 2 dadS v
7lE 2 JHEste] AR EA 2

11. USIM(Universal Subscriber Identity Module)2] 7133} %ol thall Aw3sir] .

12. CPC(Cost Per Click)®] 7Id, =& w4 35 e s 49

13. dazls A7 7Y 5 54 712 ¥H (Dynamic Programming)el w3 W shA <.
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1. =203 yagAdd dis] og E50 HohA L.

(1) B3 z=2agdoA < H 8 W (Interleaving) &2F WS AH3IA Q.
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2. UML(Unified Modeling Language) 2.0 t3] t}g &3] H3alA L.
(1) S 27te AAES YeE = Association, Aggregation, Composition ©l] o &l
Hlal A slA] 2.
(2) UML 4-Al% -0 afds}
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3. BcN(Broadband Convergence Network)ell thal] t}S &3 @A L.
(1) BeNe =4 w4 = 7idod disf] A¥sir]e.

(2) BeN A5 5S4 &5 2d e dis) dwsir .
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(1) GoF(Gang of Four)7} A|AIgk Bzl e /@3 +/E AHsiAL,
(2) Q1¥iZ 2 H (Interpreter) 2} &2 &= YA HEH & AW 3HA 2.
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AL 93 COCOMO(Constructive Cost Model) ¢} 715 HF9 &
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. LOC(Line of Code)ZE 7|¥to 2 3l

,o] ZEAES F 1R E LOC 91X

e HS 94 LOC H52] LOC H ¥4 LOC
1 250 500 7150
2 100 200 300
3 200 600 1,000
4 60 100 200
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(1) MST(Minimal Spanning Tree)2] 7fydel] otfa] A 3A L.
(2) 9 1= v AF HREE B L.

(3) Prim ¥&agl&5& o] &34 MSTE T+l EAAE HolA Q.
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(1) CMMI £d W5 9A4 13 W9 by
(2) CMMI ©] 9AA 78 WHoAe] el 34 Qo s AwstAl L.
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6. Z2AE AdA A daf ths =50 FohA L.
(1) EVM(Earned Value Management)©l] 3l ™ 3}A] <.
(2) 1€ 195H 6€ 1¢4717 s &= Z2HAEo #3t 18 7|50o] v & o,
EV(Earned Value), SPI(Schedule Performance Index), SV(Schedule Variance),

CPI(Cost Performance Index), Z1#] 3 CV(Cost Variance)& 27+ +3}A| L. o
AAl 42 3¢ 1¥ olgta 7H4 g

FAHE | AHAA AeH o5
2] HE o4 ¢ad
=g (Y)| =9 (d) o] J-
1 30 10 29 1¢ No
2 20 30 3¢ 1¢ Yes
3 50 30 59 1¢ Yes
4 100 5) 6 1¢ No
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